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:This paper contains Seventy Five (75) multiple-choice/Assertion and
Reasoning/matching questions/carrying TWO (2) marks. Attempt All the

questions.
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Fundamental duties have been
added in the Constitution by 42nd
Amendment Act, 1976 in accordance

with the recommendations of :

(A) Santhanam Committee

(B) Sarkaria Committee

(C) Swaran Singh Committee
(D} Indira Gandhi-Nehru Committee

In the event of occurrence of
vacancies in the offices of both, the
President and Vice-President of
India, who among the following
shall discharge the functions of
President till a new President is

elected ?
(A) Speaker of the Lok Sabha

(B) Leader of the majority party in
the Lok Sabha

{C) Chief Justice of India

(D) Seniormost Governor of a State
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The Supreme Court of India
declared section 66 A of the
Information Technology Act as
unconstitutional in one of the

following cases :

(A) Mohan Singh Gill V. State of

Punjab

(B) Shreya Singhal V. Union of

India

(C) Subhash Datta V. Union of
India

(D) Ram Singh V. Union of India

Who among the following can
establish additional courts for better
administration of any existing law
with respect to a matter concerned

in the Union List ?
(A) Chief Justice of India

(B) High Court of the concerned
State

(C) Parliament

(D) Concerned State Legislature
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Disputes between Statrss in India
come to the Supreme Court

under :

(A) Advisory Jurisdiction
(B) Original Jurisdiction
(C) Appellat.: Jurisdiction
(D) Concr.rrent Jurisdiction

Amendraent of which one of the
following provisions of the
Consstitution requires involvernent

of the Legislature of the States ?

(A) Article 157 relating to the
qualification for appointment

as Governor of the State

(B) Article 123 relating to the
powers of the President to
promulgate ordinances on a
subject mentioned in the
Concurrent List, during the

recess of the Parliament

(C) Article 56 relating to the term
of the office of the President

(D) Article 54 relating to the

election of the President
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Parliament has power to legislate
with respect to a matter in the State

List provided it is in the :

(A) Interest of the state concerned
(B) Interest of public at large
(C) Interest of the minority

(D) National interest

“What cannot be done directly can
not be done indirectly ?” This
statement epitomises the doctrine
of :

(A} Pith and substance
(B) Implied powers

(C) Anciliary powers

(D) Colourable legislation

Who outlined in his “Law of
Constitution 1881” the Concept of
“Rule of Law” meaning a
Government of laws rather than of

arbitrary individuals ?
(A) Salmond

(B) Dicey

(C) Blackstone

(D) Austin
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10. In which one of the following cases,

the Supreme Court held that the
Principles of Natural Justice are
applicable to
proceedings ?

(A) M.C. Metha Vs Union of India

(B) Maneka Gandhi Vs Union of
India

{C) AK. Kraipak Vs Union of India

(D) Smt. Indira Nehru Gandhi Vs
Raj Narain

administrative

11. Assertion (A) : Indian Constitution
has not recognised
the Doctrine of
Separation of
Powers 1n its
absolute rigidity.

Reason (R) :  Doctrine of

Separation of
Powers accommo-
dates a system of
checks and
balances.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

{B) Both (A) and {R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) 1s false

(D) (A) is false but (R} is true
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12. Abuse of discretion can be infered

13.

from the following. Find out
the answer from the codes given
below :

() Non-application of mind
(fi) Colourable exercise of power

(zii) Non-observance of Audi

alteram partem
{(iv) Irrelevant considerations
Codes :
{A) only (i) is correct
(By only (i) and (ii) are correct
(C) only (i) and (iii) are correct
(D) only (1), (fif) and (iv) are correct

An appeal against the order of
Central Administrative Tribunal

lies with :
(A) Supreme Court
(B) High Court

(C) Bench of the High Court
specially constituted for the
purpose

(D) No provision for appeal
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14. Judicial Review of an administrative

15.

16.

action means :

(A) Review by the higher hierarchy

of the government
(B) Review by the President
(C) Review by the Judiciary

(D) Review by the Parliament or
State Legislature

The effect of violation of the rule
“Audi Alteram partem” on an

administrative action is :
(A) Merely irregular

(B) Null and void

(C) Illegal

(D)} Voidable

The statement “Equitable ownership
of a legal right is different from the
ownership of an equitable right”
shows that law and equity differ
with regard to :

(A} Only the existence of rights
(B) Only the ownership of rights

(C) Both existence and ownership

of rights

{D) The existence of a right but not
regarding the consistency of a
right
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17.

18.

Salmond enumerates five

characteristics of legal right. Four

such characteristics are :
(1} Subject of right

(2) Object of right

(3) Content of right

(4) Title of right

The fifth characteristic is :

(A} Property in respect of which

right is claimed

(B) Act of ommission required by
the right

(C) The legal reason for the

existence of the right

(D} The
corresponding duty

subject of the

Which one of the following schools
of jurisprudence considers that a
reasoned scale of values can be
discovered as a basis for legal

development ?
(A) Sociological
(B) Historical
(C) Analytical
(D) Philosophical

Law-II1
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19,

20.

21.

A decision of the Privy Council
given before 1949 is :

(A) binding on the High Courts
they
overruled by the Federal Court

unless have been

or Supreme Court

(B) having only persuasive value

on the High Courts
(C)

binding only when the case
was decided by two or more

judges

(D) binding only when recognised

by the Supreme Court

Which one of the following is a legal

person ?

(A) Supreme Court of India

(B) Governor of a State

(C) Damodar Valley Corporation
(D} President of India

‘A’ says to ‘B’ that he will give a
sum of rupees ten lakhs if ‘B’ marties
his daughter, this is :

(A) Vested right
(B) Contingent right
(C) Primary right

(D) Contractual right

Law-1I1
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22.

23.

24.

Asse’ tion (A) : Laws are valid only

if they are just.

The aim of the law
is to secure justice.

P eason (R) :

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation

of (A)
(B) Both (A) and (R) are correct but
(R) is not the correct

explanation of (A)
(C) (A) is false but (R) is true
{ID) (A) is true but (R) is false

A claim barred by' lapse of time
(i.e. a debt barred by law of limitation)
is :

(A)
(B) a negative right

an imperfect right

(C) a personal right
(D)

Which one of the following is
the correct group of offences
against which right of private
defence relating to property can be
exercised ?

(A) Theft, Extortion, Robbery,
Mischief

Theft, Extortion, Mischief,
Criminal Trespass

Robbery, Mischief, Criminal
Tresspass, Extortion

Theft, Robbery, Mischief,
Criminal Tresspass

a contingent right

(B)

(C)

(D)

Law-III
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25.

26.

In which one of the following cases
did the Supreme Court explain the
concept of grave and sudden
provocation as a mitigating
circumstances reducing the gravity
of the offence from murder to
culpable homicide not amounting to
murder ?

(A) State V. Dasrath

(B) Jagroop Singh V. State of
Haryana

(C) K.M. Nanavati V. State of
Maharashtra

(D) Ujagar Singh V. Emperor

Assertion (A) : ‘A’ a boy of the age
of six intentionally
murders ‘B’, ‘A’ is
not liable to be
convicted.

Reason (R) : A child up to the
age of 7 years is
immune from
criminal liability.

Codes :

(A) Both (A) and (R) are correct and
(R) correctly explains (A)

(B) Both (A) and (R) are correct but
(R) does not correctly explains
(A)

(C) Only (A) is correct and (R) is
false

(D) Only (A) is false but (R) is

correct
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27.

28.

29.

Section 303 Indian Penal Code
prescribes  death sentence
mandatory to a convict who
commits murder while undergoing
sentence of life imprisonment. This
section has been struck down as
unconstitutional by the Supreme
Court in :

(A) Ranjit Singh V. Union of India
(B) Mithu V. State of Punjab
(C) Hukiram Pradhan V. State
(D) V.K. Saxena V. State of A.P.

A person who not expected to be in
office, created a belief that he would
be in the office and obtained
gratification. Which one of the
following offences has been
committed by him ?

{A) Bribery

(B} Misappropriation
(C) Cheating

(D} Breach of Trust
Voluntary intoxication

(A) Makes an offence more serious
or increases the gravity of an
offence

(B) is a weak defence to a criminal

charge

(C)

1s no excuse for the commission
of offence

()} reduces the gravity of the

offence

Law-III
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30. Public nuisance :

31.

affects
comfort

the
and

(A) materially
reasonable
convenience of life of a class of
subjects who come within the
sphere or neighbourhood of its
operation

(B) affects life of a class of subjects
who come within the sphere or

neighbourhood of its operation

(C) affects a person who come
within the neighbourhood of its

operation

(D) is described as unlawful
interference with a person’s use
or enjoyment of land or some
right over of in connection with
it

Which one of the following
statements regarding Section 34
and 149 of the Indian Penal Code

is correct ?

and
common object are the same

(A) Common intention

(B) Both are distinct offences in

themselves

(C) Section 34 enunciates a mere
principle of liability and creates
no offence while section 149

creates specific offence

Section 34 and 149 are
mutually helping sections

(D}

Law-1I1
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53 €9
(Bl GUAISL A GUatloL MR
ol &AMl & vty 416 Ad a-l
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Ad sl sy [@at sudly €s

ARl sax 3y A seH 1xe dedl

w3 97

(A) UL SUCL A A &g AS
% £9

(B) 6 e M UL Arlidl 9

(C) saH 3% M3 FAoell-l Rigid 8
M A 56 el Mgy el aul
s 1¥¢ B ALSEA YL B

(D) seM 3% il SEH VY ol YRR
s oflon Hessdl ©
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32.

33.

In which of the following cases the
constitutionality, legal validity,
propriety and fairness of the
settlement of the claims of the
victims in a mass tort action
relating to Bhopal Gas Leak
Disaster has been challenged in the
Supreme Court of India ?

(A) M.C. Mehta V. Union of India

(B) Union Carbide Corporation V.
Union of India

(C) Charanla! Sahu V. Union of
India

(D) M.C. Mehta V., Kamal Nath

The Supreme Court observed that
noise pollution cannot be tolerated
even if such noise was a direct result
of and connected with religious
activities in one of the following
cases :

(A) Church of God (Full Gospel) in
India V. KKR Magestic Colony
Welfare Association

(B) KM. Chinnappa V. Union of
India

(C) Narmada Bachao Andolan V.
Union of India

(D) M.C. Mehta V. Union of India

Law-III
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32.

33.

{12 A U 3l e SRd R ey
dec] wdal Ayl Huse sl ada
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34. Assertion (A) :

The right to clean
drinking water and
right to free air to
breathe are
attributes of the
right to life.

Reason (R) : Because they are
the basic elements

which sustain life.
Codes : '

{A) Both (A) and (R) are true and
(R) is good
of (A)

Both (A) and (R) are true but
(R) is not a good explanation
of (A)

(C) (A) is true but (R} 1s false
(D) (A) is false but (R} is true

Justice O. Chinnappa Reddy held
that “the court should bear in mind
Article 48A and Article 51(g) of the
constitution while dealing a problem

explanation

(B)

on ecology” in one of the following
cases :

(A) Rural Litigation and
Entitlement Kendra V. Union
of India

(B) Sachidananda Pandey V. State
of West Bengal

(C) M.C. Mehta V. Union of India

(D) Vellore Citizen’'s Welfare
Forum V. Union of India

Law-IIT
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34. [Axy s34 (A) :

35.

CICTETI 24259
Wl wHESLT A
Y dal M Ua
gall A5z
o o til
wi[f 512 L HBLEL Y

5129 (R) S129 5 o 6 dcdl
W e, 251l
UL 9.

!;l.s :

(A) 6l (A) w1 (R) Wzl 9 st (R) L

(A) b 2Rl 2ol

(B) i (A) 2 (R) Wi 8 wig (R

2 (A) Al w3l wnggla =l
(C) (A) W3 9, uig (R) Wi ©
(D) (A) w0 %, uig (R) w3 &
gedl @l [arvul 28l &1y &
Sugidd GELTRAL AqH9E ¥C—A
A wnude wi-{®) 4 A
W RaARaaua Al Mt A1 Ao
. 3 el mard ea.”’

(A) 324 dld8la @S A-alded-2

i [A36 Sladuy

(B) uluzids uis [ags ulay spdun

%Y
(C)
(D)

wi Al Hedr [A34 eurduy
ez @My Aadz sivw [H3e
CTEX S
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36.

37.

38.

In which of the following cases the
Supreme Court discussed the
development of the “Precautionary
Principle” ?

(A) Olga Tellis (1986) case
(B) M.C. Mehta V. Union of India

(C)} Rural Litigation
Entitlement Kendra V. State
of UP

(D) A.P. Pollution Control Board
V. M.V. Nayudu

and

Which one of the following judges
of the Supreme Court is popularly
known as the “Green Judge” ?

(A) Justice V.R. Krishna Iyyar
(B) Justice P.N. Bhagawati
(C) Justice Kuldip Singh

(D) Justice B.N. Kirpal

The Air (Prevention and Control of
Pollution) Act, 1981 and the
Environment (Protection) Act, 1986
were passed by the Parliament
under :

(A) Article 252 of the Constitution
(B) Article 253 of the Constitution
(C) Article 250 of the Constitution
(D) Article 262 of the Constitution

Law-II1
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39. Read Assertion (A) and Reason (R) 39, [(msay sa- (A) w17 5132 (R) il »A

and with the help of the Codes N .
Al 28 SISl Balol $3] WL Fawol

given below and write the correct

. Al

answer :

Assertion (A) : Under Inter- [eax sut (A) @ uidRIM sluel
national Law Meqd ALLR
extradition is weadel ol Ruall
mostly a matter of ) .

AR sl olod
bilateral treaties.
9.

Reason (R) : There is no general
duty of the States 5132 (R) : AAoniAL Hewdley
in respect of Hi2 U 1S

- ;
extradition o AL FUSELT
criminals.
el
Codes :
518 :
(A) Both (A) and (R) are
individually true and (R) is the (A) oiri (A) i (R) wdaAd w8
correct explanation of (A) 21 (R) A (A) Il wl wugl &

(B) Both (A) and (R) are = . L .
(B) oivl (A) u+t (R) 2aldat I wrl 49
individually true but (R) is not '

1 (R) Wl w1l
the correct explanation of (A) A (R) ¥ (A) I A

(C) (A) is true but (R) is false (C) (A) % 8 Wid (R) W¢ ®

(D) (A) is false but (R) is true (D) (A) Wi B wig (R) Wi O

Law-III 19 [P.T.O.]



40. International usage translates into

41.

International custom only if :

{(A) Followed by the State for a long

time

(B) Consistently and uniformly
followed by the States for a long

time

(C) Uniformly followed by the
States with the belief that

states are bound to follow it

(D) States have the belief that they

are bound to follow the usage

“It 1s generally acceptable principle
of International Law that in
relations, between powers, who are
contracting parties to a treaty, the
provisions of the Municipal Law
cannot prevail over the treaty” was
held by the Permanent Court of
International Justice in one of the
following cases :

(A) Navlilaa incident case

(B)

Greco, Bulgarian Communities

Case

(C) Panevezys Saldutiskis Railway

Case

(D)) Polish Postal Serviee Case

Law-I1I
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s gl R (wan) 3t aidz 2y
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(C)
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42, Which of the following has the

43.

power to give effect to the judgement
of the International Court of Justice
if a party to the case fails to perform
the obligations incumbent upon it

under a judgement ?

(A) General Assembly

(B) Highest National Court in the

concerned state

{C) Security Council

(D} International Court of Justice

A member of the United Nations
which has persistently violated the
principles contained in Charter may
be expelled from the United Nations
by the :

(A} Security Council

(B) General Assembly

(C) General Assembly upon the

recommendation of the

Secunty Council

(D) Security Council upon the

recommendations of the

General Assembly

Law-III

42,

43.
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12 WA suL {0t w2 MY 2eletdHl
Y5iald wen S39 % Was U [Fsa
AU Al Ysinl wrad Gulad 13y
FASBLLIAL W M2 o Y5l AHAUR
Al Wl 97

(A) A #hila

(B) AvifBd z1ou-fl wdla »sidd
(C) uatimdl uBia

(D) wiidaz gl 2yl »eed

Yelfes Al 515 B5 AU A
Y525 91 Uie 2ol Rigicld B ddudl
Gedin Scll wld ol dal ElBd 2o e

Aouuel szas syl U sid o7
(A) HeiHdl dBla
(B) 2=y uBa

() el Al steseAr »uss

A WAl

(D) at ABfa-Al st >uaz

Aetndl A
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44.

45.

46.

“Estrada Doctrine”

The
propounded by :

was

{A) The Home Minister of Mexico
(B) The External Secretary of USA
{C) The Foreign Minister of Mexico
(D) The Prime Minister of UK

“The UNQ has no competence to
intervene in matters which are
essentially within the domestic
Jurisdiction of any State” has been
provided under one of the following

provisions of UN Charter :
(A) Article 1(7)
{B) Article 2(7)
(C) Article 98(7)
(D) Article 7(2)

A Muslim wife can relinquish her
Mahr ?

(A) when she is minor

(B) when she is above 18 years of

age

(C) when she has attained age of

puberty

(D) when she has is above 21 years

of age

Law-TI]
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‘2181 Rgia’ wlauuBd s2ami el

(A) AEAsIL en MRz

(B) Yyl visteda A2l
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(A) 1wt 1(9)
(B) i3t 2(9)
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o(x)

(C) i
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47.

48.

49.

Under Section 6 of the Hindu
Minority and Guardianship Act,
1956, the natural guardian of a

minor child is :

(A) Mother

(B) Father

(C) Both Mother and Father

(D) Grandfather and Paternal
Uncle

Which of the following cases is
related with maintenance of a

Muslim woman ?

(A) Mohiri Bibi Case
(B) Humra Bibi Case
(C} Shahbane Case
(D} Abdul Kadir Case

Under Section 10 of the Hindu
Marnage Act, 1955, the grounds for

judicial separation are :
{A) the same as grounds for divorce

(B) the same as grounds for

restitution of conjugal rights

{C) the same as grounds for nullity

of marriage

(D) None of the above

Law-III
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47.

48.

49.

(€5 wllaca A qdluae wBlfuy,
1eus <l se 5 ey Yol spasy
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50.

List I

(1) Ashok Hura (1)
Vs. Rupa Hura

(2) Bipin Chandra (i)
Vs. Prabhavati

(8) Sarla Mudgal (ii)
Vs. Union of
India

(4) T. Sareetha Vs. (iv)
State of A.P.
Codes :

(1 2) Q) @

(A G} (m) (&) Gu)
(B) Gu) @) G @)
(C) G i) @) Gv)
(D) (v) Qi) @ @)

Law-III

Match List T with List II and

indicate the correct answer using

the codes given below :

List II
Restitution
of conjugal
rights
Uniform
Civil Code

Desertion

Divorce by
mutual

consent

24

(1)

(2)

(3)

(4)

dlze T o dize [

[ dzuual 2401 4 210

518l Guasl 531 w2l waw salal ¢

dlwe I

malls g2l [A3e
W g

ofl =gt [43g
neyadl

A YA
([A3¢ ouzariy

. #d [a3¢

we i wisusal

sls ¢
(1 (2)
(A) (@} (u)
(B} (v) (i)
(C) @)

(iii)

(D) Qo) (i)

dle 11
() @ essid
yri: WA
G WA s
LRl
(i) sl
(fv) WIUR
Al
asazde
(3} )
ez} (v}
) @
(1)  Guv)
@) (&)



51. Read Assertion (A) and Reason (R) 51, [suyn 53+ (A) 244 5139 (R) il 244
and with the help of the Codes wila sisdl Guuio 53 Wl Wiyl

given below and point out the .
ZulAl
correct explanation :

. , , Fraaq saq (A) @ ulis  deiul
Assertion (A) : Sapinda relation-

ship extends upto fuqua wia 14l
five degrees on the 1l uA wiqual
paternal side and Ao A4 yell Raad
three degrees on 3
the maternal side. .

ska (R) : afis  weiui-u

Reason (R) : Rules relating to

. . Funl ofSlaale
sapinda relation-

ship are based on EPAR By
the principle of »ualid 9.
exogamy. .

58

Codes :

(A) (A) w3 8, (R) wig &
(A) (A) is correct (R) is false

(B) 6l (A) - (R) Wl &
(B) Both (A) and (R) are correct
(C) (R) is correct but (A) is false (C) (R) mi 8 uig (A) Mg &

{D) Neither (A) nor (R) is correct (D) ¢l (A) A (R) 44l siduan w3 w2l

Law-II1 25 {P.T.0.]



52.

53.

Uniform Civil Code in India is :
(A) Fundamental right

(B) Constitutional right

(C) Directive principle

(D) Government Policy

What is the meaning of collective

rights ?

(A) Collective rights belong to

distinet groups of people

(B) Collective rights are those that
belong to particular group as
cpposed to the individual

member of the group

(C) Minority rights are collective

rights

(D} Collective rights entail rights of
the group as well as individual

rights of the group’s members

Law-III
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52, odMl dHIA ualis Rl

93.

(A) 3uoyd A5
(B) olatze(ly »ilAsr
(C) wsledds [gia

(D) AL Al
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54. Liberty, Quality, Fraternity are

55.

slogans of :

{A) Declaration of American

Independence
(B) French Revolution
(C) Russian Revolution
(D) Indian Freedom Struggle

The Supreme Court of India
observed that “The Universal
Declaration of Human Rights may
not be a legally binding instrument
but it shows how India understood
the nature of human rights at the
time when the Indian Constitution

was adopted” in case of :

(A) Jolly George Vérghese Vs.
Bank of Cochin

(B Keshavananda Bharti Vs.

State of Kerala

(C) ADM Jabalpur Vs. Shivkant
Shukla

(D) Maneka Gandhi Vs. Union of

India

Law-III

54. WdAdl, Ardl, cidl sidl s o?

55,

(A} AR5l 2adatdat-dl divs
(B) 34 sild

(C) <[aunt sila

(D) ol w@slddl Aum

0 512 sul suMi 2y § auda

wifsizi-dl Ay il d sl Ad

N

ofarisdl eadldy 4l uig d euld ®
5§ A ourd Hid A5 |IYA
AMAY, VL AMA ¥ AMA ed edlu
olutzaA wdllsyd

(A) Adl s aolx (34 6is s sl

(B) suais ~uzdl Q3¢ Fual oma

(C) ».8l.xu, woay: [A3q [lasia

L 5EL
(D) #-tst el [A3g olzdwia
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56.

b7.

58.

The Civil and Political Rights are 56.

laiddowninthe .....oooooevvvvennenni . of

the Indian Constitution.
(A) Part V

(B) Part IVA

(C) Part IV

(D) Part III

The Chairman of the National 57.

Commission on Minorities shall be

deemed member of :
(A) Human Rights Council
(B) Law Commission of India

(C) National Human .,k Rights

Commission

(D) International Law Commission

Which one of the following have 58

been described as fourth generation

of human rights ?

(A) Right to Life

(B) Right to Environment
(C) Right to Health

(D) Right to Communication

Law-III 28

Ay 2 A MASAAL Wuan

MLelrl SRR ...
(A) [eys-y

(B) [dewdt—y

(C©) Qous—y

(D) (qewd-3

agidlrt gl L g sl 330

Al "oy el

.......

(A) g wEan s6lua
(B) euRdd, slyel U
(C) Hirla KA Uy iy

(D) i zI¥Y sldet iy

A A4 suL @S0 g AL

Al W AR A3 iy 7
(A) oad+l w512

(B) vulararil sffse

(C) RdReasll 252
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59. Read Assertion (A) and Reason (R).

Find the correct answer using the

codes given below :

-Assertion (A) : The purpose of

Human Rights is to
provide protection
against abuse of

power committed

by the organs of the
State.

Reason (R) : Only due to
absence of Lokpal
the misuse of power
by the State cannot
be effectively
checked.

Codes :

(A) Both (A) and (R) are correct and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are correct but
(R) 1s not the correct
explanation of (A)

(C) (A) is correct but (R) is false

(D) (A} i1s false but (R) is correct

Law-II1
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59. 1A w0 ey sa- (A) 244 5122 (R)

il - 2A0e SIS Gualal 53 Wil

aeilel WAL :

My sud (A) @ s sl

sk (R) ¢

dg UL violl
gIR1 AdL ATl
34U [A36 2Emt

Al 9.

Wi dlsviadl
el dla
%Y gl Atli-l
gL uuta
wArs1es  ld
[l 531 wstal

SUIR

5S

(A)

(B)

(C)

{2)

o (A) A (R) WU 8 @l (R)

(A) -l w2 w1

ol (A) 21 (R) vzl 8 uig (R)
A (A) -l wae anegda -l

(A) u3 & 27t (R) Wig &
(A) Wig 8 w1 (R) w3 &

[(P.T.O.]



60.

61.

Select the correct answer using the

Codes given below :
The National Human Rights

Commission can :

(i) Itself take actions and punish

those who violate human rights

(zz) Only make recommendations to

the Government

the
proceeding relating to Human
Rights

(i) Intervene in court

(tv) Make recommendations for
enforcement of treaties relating
to human rights.

Codes :

(A) (i) and (i) are correct

(B) (i), (&4i) and (iv) are correct
(C) (&), (&i) and (iti) are correct
(D) (i) and (iv) are correct

Which one of the following is not
a good defence in suits for damages

on Negligence ?
(A) Contributory Negligence
(B) Express contract with plaintiff

(C) Express contract where statute
prohibits

(D) Voluntary assumption of risk

Law-III

60.

61.

30

Al 2%e 515+ Guaiol $31 WRl s
1ML :

HiAa ABs1d 2sdla da

() Wd % wadi ™I 4 A Mg
MASIZIAL Gedtt s3-2 1R 1
531 s

(7)) A1 waal dairdl WA o
53 W

(zif) vietddl sidadlai Hia 285020
Asol gty ddl e 59 B

(fv) A sz 20 ARsAA
wHE M2 %31 sl 531 ud

s

(A) (i) 2 (i) vl &

(B) (i), (i) @1 (v) Wil &

(C) (D), (i) Y+ (G0 W

(D) Gid) 21 (o) W3 &
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ACTERTTIETRI I TICIT |

(A) Us1us Gusy
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62.

63.

The test of reasonable foresight 62

apphicable to the case of :
(A) Negligence

(B) Damages

(C) Defamation

(D) Vicarious liability

Under which of the following  63.

conditions, the right to claim

damages in tort would arise ?
(1) Infringement of a legal right
(2) Legal damage

(3) Any damage

(4) Existence of a legal right

Select the correct answer by using

the codes given below :
Codes :

(A) (1) and (2)

(B) (1), (2) and (4)

(C) (1), (3) and (4)

(D) (1) and (4)

Law-1I1 3

apell grelferdl saiidl 1A 44

.......

sl Ay usdl.
(A) Gla

(B) andr
(C) se-all
(D) ulalfcael gaqeeil
{14

QidR RUadl H2 eldl sl ARsR

14 58 wRRaldmi vlugan oed

Wi 43l?

(1) sl silasiznl oin
(2) sl dsuA

(3) siduRl qsai-

(4) sl s34 AR
{1 210 sis-L Gula 531 w2 g
WiE 5 ¢

518 :

(A) (1) 27t (2)

(B) (1), (2) ¥ (4)

(C) (1), (3) w+ (4)

D) (1) 24 (4)
[P.T.O.)



64. Which one of the following

statements illustrates the Principle

of Contributory Negligence ?

(A} The plaintiff by his own want

(B}

(&)

(D)

Law-III

of care contributes to the

damage caused by the
negligence or wrongful conduct

of the defendant

To be guilty of contributory
negligence, the plaintiff should

have acted like a prudent man

A person who comes to court

must come with clean hands

The plaintiffs negligence means
breach of duty towards

defendant

64.
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65.

66.

Which of the following are
essential elemnents of the defence of

fair comment in the tort of

defamation ?
(1) of public interest
(2)

(3) an expression of opinion

an assertion of fact

(4) fairness

Select the correct answer by using
the codes given below :

Codes :

(A) (1) and (2)

(B) (1), (3) and (4)
(C) (3) and (4)

(D) (2), (3) and (4)

Generally tortious liability has an
element of fault to support it. In
which one of the following Acts,
recently a provision has been
added in India, which provides for
meeting claims arising both on the
basis of fault principle and no fault
principle ?

(A)
(B)
(C)

Factories Act
Motor Vehicles Act

Workmen’s

Act

Compensation

(D} Public Liability Insurance

Act

Law-1I1
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66.

sigotelletl 2iuscdl A Wdl su el
Alstrll wilaes dedl 97

(1) 2nd2 [Bdui

(2) eBsa-t RPaq

(3) el wiooald

(4) wollug

sismidl WER wUsl WRiE s
sis :

(A) (1) 1 (2)

(B) (1), (3) ¥4 (4)

(C) (3) w1 (4)

M) (2), 3) x4 (4

M Fld sugeir=d walseiIl-
o ol (&f) o dea 28 8. 1A W
e{L el sS4 SHEML W AU GHrat
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A @iz Rd Rugia ol ws Rigiastl
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AMEY qUl © ¢

(A) 3sedln »is2

(B) siex Adlsa ke

(C) afdiq siPU-Yat Ase

(D) uoells aiuelldldl S=alId Ase

[P.T.O.]



67. Which one of the following defence

68.

did the defendants in the case
of “Donoghue Vs. Stevenson” not

plead ?

(A) The “privity of contract policy”
be applicable and there would
be liability of the

manufacture

no

(B) The be

prevented by the standard of

incident c¢annot

foresight of the reasonable man

(C) The plaintiff was a strange to
the contract and therefore her

action was not manitainable

(D) The manufacturer did not owe
any duty of case towards the
consumer of the ginger beer
which was gifted to her by her

friend
Offence of dishonour of cheque is :
(A) Cognizable
(B) Non-cognizable

(C) Non-cognizable and com-

poundable

(D) Cognizable and non-com-

poundable

Law-II1
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69. Read Assertion (A} and Reason (R)

and answer using codes given

below :

Assertion (A)

Where under a
contract of sale the
property in the
goods has passed to
the buyer and the
buyer wrongfully
neglects to pay for

the goods as per the

. terms of contract,

Reason (R) :

Codes :

the buyer may sue
the seller for the
price of the goods.

The
entitled to get the

seller is

contractual price.

(A) Both (A) and (R) are correct and

(R) is the correct reason for (A)

(B)

Both (A) and (R) are correct but

(R) 15 not the correct answer

for (A)

(C}

(D)
Law-III

(A) 18 wrong but (R) is right

(A) 1s right but (R) is wrong
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70. The differences arising as to the 70, ayalleidl Wy euollerzl a2 ewelletdlu

i i th . . . - . - A
ordinary matters connected with the L Al AL SUoL] 203 HAGLE] $iY

business of partnership may be -
AU dd Rasaw ..., 524,

decided by :

(A) Al alass eaflelz
(A) the seniormost partner

. (B) dae
(B) An arbitrator
(C) Subordinate court (C) wlA-1a mewdd
(D) A majority of partners D) cwlleiRid gl

71. Which one of the following 71. 1A U4l 3§ R wi § ?

statements is true ? (A) ofla wis el (q21quq)

(A) The order contained in the Bill et A wkdl eld o

of Exchange may be conditional (B) ollet iy HAad-y (q21ama) i
Ysasll sl [l eidl 2uagys
2

(B) A Bill of Exchange must

contain a request to pay
(C) 35 olle iis ARA- (qaramd) A

(C) Every Bill of Exchange is a W2l iz (au) @

P . N t - N
romissory Note (D) i Anaur () RBadg ga

(D) The payee must be certain A5
Law-1I1 36



72.

73.

Harward V Patent

Ivory
Manufacturing Co. (1888) 38 Ch. D.

156 is a case relating to :

{A) Doctrine of Indoor management
{B) Doctrine of ultra vires

{C) Doctrine of Public Notice

(D) Doctrine of Social Responsibility

Which statements are correct,
answer using the codes given

below ?

(i) Directors are trustees of the
company
(i) Directors are mentors of the

company

(iii} Directors are agents of the

company

(iv) Directors are agents of the

shareholders
Codes :
(A) (i) and (if) are correct
(B) (i) and (i) are correct
(C) (i) and (iv) are correct

(D) (i) and (iv) are correct

Law-IIT
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72. w1ad [A3¢ Uere 2054l Ay3saal

73.

iudl (A¢ce) 3¢ A28l aus -l 3y

(A) ia¥ls adldedi Rigid
(B) ddl il Rgid
(C) MR yaurirll Rgia

(D) wHIBrs guoelldl Hald

(A 20l sisHl Guaial 53 sy R

™,

w3 ¢ :

() Sl3se B syl gladl
(i) Slisex i sudlu doal ©

(i) 3senl @ Su-dl-u RA-2l B
(v) Gl3sel A ARelesU- =2l &
58 :

(A) (i) A D) Wi 8

(B) (@) A (i) Wil 8

(C) @) 2 (fv) wal &

D) i) v (fv) vl

[P.T.O.]



74. Read the Assertion (A) and Reason

(R) and answer using the codes

given below :

Assertion (A} : When something of

Reason (R) :

Codes :

valuable nature is
acquired by a
partner in breach
of his duty in good
faith, it is taken to
be acquired for the
benefit of all the
partners and has to
be accounted for to

the firm.

Partnership is a

trust.

(A) Both (A) and (R) are true and

(R} is the correct explanation

of (A)

(B)

(R) is

Both (A} and (R) are true and

not the correct

explanation of (A)

(C)

(D)
Law-1III

(A) 1s true but (R) is false

(A) is false but (R) is true

38
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MUA 5ESL GUADL 531 el »d :

[y sa4 (A) :

51 (R) :

ﬂs :

L eudflelr gl
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75.

Which are essentials of a contract
of sale of goods ? Answer using codes

given below :

I} Offer

(it} Acceptance of offer

(tzz) Exchange of goods for money

(tv) Transfer of property in goods

from seller to buyer

Codes :

(A) Only (i) and (ii)

(B) Only (#ii) and (iv)

(C) Only i) and (zi1)

D) @), Gi), Git) and (v)

Law-IIiI 39
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© 7 A vl siSHL Gudiol s was

WYL
(f) Mxua
(G0) M-l sz
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